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1. Tt T Al ¢ 1TB(terabyte) & *+ 5 52

(A) 1024MB (B) 1024GB
(C) 1024B (D)re ¥ 42t
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3. SR AR BT > SRR L TR B HT?
(A)1 (B)2
3 (D) 4
4, THupe  sE > L5
(A) The World Wide Web (B) RFID
(C) The Internet of Things (D) Cloud Computing
5 T3l :‘ﬂr * P % Ho f2 3% 2% 335 7 (Object-Oriented Programming Language)?
(A)C (B) C#
(C) JAVA (D) C++
6. Trlimg s "FETMARSEMAG ) E [
(A) DVI (B) HDR
(C) HDMI (D) HDDI
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8. A (CAPTCHA) ¥ * &k Tprab gezbagp doib ko kg | F A
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(A)£R it 2R = (B) FTP &R %
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11. 7 7 ifie 4255 7 magic(20)sh % 5 2 (10%)

public static int magic(int n){
if (n <=0) return 0O;

return magic(n/2)+1;

12. B2 A, B & ]2 = el fi(two’s complement representation) &% 15 &~ i+~ (byte)shiz 2 P o H

¢ A=(C8). B=(17)5° 35 A—B (15%)

A = ( )2
B= (0 001 011 1) -B = ( )2
A+(-B) = ( )>
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14, B AP - sEde B BB 4 5 2%x2" A piE 38 32 mA(bi) kg o L7

Bigean= REga Wi R 2 <) ¥ 5 > MB(megabyte) ? (10%)




